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Last year, Taiwan experienced its first economic recession since ihe ceniral government moved lo
Tawan. Do you think which of the tollewing rauses is the muior initlol cauze Ffor this negative
gtowth in income? (AY The LM corve shidts ta e et (B} The [8 curve shifts to the left. {C) The
Aggregate supply eurve shifts to the Jeft, (D) both (4) mnd (C} (E) bath {B) and (C).

In the middle of lust year, the unemployment eate of Taiwan has reached its record high, Which of
the Fallowing reasons is the main cawsa for this bigh unemployiment rate? (A Real wage rigidity
(B} increased supply of foreign labor () decroased demand for |gber due 1o redecad demand Far
gaods (D) decroased demand for Jabor dus to reduced eapilal {EX nane af the above.

Cioamparing Ippansss clnent econenty with the Oreat depression, which of the foblowing reazons is
nor the commaon cause for these two coonomic downtums? (A axiensive bank failures (B} mwack
marker crushes (C) large scalg bank run {D} dranatic drops in real estate prioss (B liquidity frapa.
Which of the following polisics is respensible most for the economic downtern of last year in
Taiwan {A)} inadequate monetary polley {B) inadequate fiscai policy (C) inadequate indusicial
palicy (I inadequats trade policy {E) inadequate regulation policies,
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For a smatl open economy with perfect capital mohility, which of the following policy s increase ::i

. 1
& highest ingome level in the shorl run? (A) an increase in govemment purchase bn a floating '
cxchangoe rale system (B) an increase in woney sepply in o fixed exchange tile svetem () 2 Pt
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decrazse in impoens in 1 flvating cxchangs rate system (103 a decrense in ineome s in o foxed

exchange rate systen {E) none of the above,
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§  Centinuing with questlon 5, which of the following policles wiil rasull in an incremss In m-:rm:y
supply in the snd? (A]n an increase ik government purchase in A floating axchangs rete system (B)
an lncreass in money supply in 8 fixed exchange rale system () a decreasn in imponis i o Roating
exchange rate gystom (D) & decrease dn {ncome tax in o Hxed exchangs rala system (E) none of the
aboryn.

7. Continuing with question 5, the angwer of question 5 can lncrozse the income levn] bacaure It
resulls in an increase It {A) consumption (B) investment {C) government purchags (D) net axpori
(E) Al ofF the above Hams,

8. Which of the follawing conditions will lead to the least affoct of an enpansionary fiseal policy in
the short run? (A} the sensltivity of money demand to interest rate and the gensillvity of Investmeni
to real Interest rete are small (B} the senzsilivity of monsy demand o el income and the
sensitivity of Investment to real intereal rate are amall (C) the sensitivity of memey damand to
imterest rare and the marginal propensity to consume are small (I} tha senaitivity of money
demend fo intaragt mte and Ihe sensitivity of investment 1o real interest rale ame larga (E) the

merginal propenaity to consume and the sensitivity of investment I yeal interest rale are small,
9, Which of the following condirions will lend to the most sffectlve | menetary policy in the short run?

{A) the sensitivity of money demand to inlerest 1ate and the seniltivity of investivant bo resl
Imberest rate pre amall (B} the sensitivity of money demand to real income end tha sengilivity of
investent t0 real [noerest rato are small {C) tha eensltivity of monsy domand Ly fnberest rats and
tha merginal propensily to consume are smal! (D} the sensitivity of maney demand to real necine
is large annd the sensitivity of investment to real intarest rate 13 smail (B) ths meirgingl propeisity bo
consume and the sensitivity of Investment to real foteresr rate ore large.

10. ‘Which of the following policy can really achieve economicatly efffcient outcoms for most of the
population and satisfy the justice and faimess principles most? (A) nubsidizing the public
universities (Bj frposing laxes on Taiwaness businesses thet invested in o Mainland China (C)
subsidizing the high-tach menufechuring indusides ) subsiding the ewportlng goods. (E)
impozing taxes on firms ceusing pol luton.
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